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Need more "explicit" lestripion 1 QCA). 
A 5 Kk 

（ * ） pushout in Exily. 
→ Bar A 

Kok can be coupied many mays. One is / 41→→4°P | 

Taking (ordinary) Ribes in the squere (t) we get a map 

À → E' Bar(A) 

Thu Q(A) ~ colim E Bar" (A) 
[to get Er-indecomposable, irete n times ) 

Prost shekh. Think chat what hapeus in anN 
x → 0 

J 
K → E(≤x) = Bar (Exx) 

on free algebrs, Bar(-) ieturns free object on 
suspension of genestos. 

UNIVERSITE 
DE GENÈVE ETH zürich swissmaprs.ch Sues National Science Foundation 

SwissMAP 



Xok ٤٠ → （   ） 

only reasonable description of (*x) could be : 
T l e n t h y   o n   k i l   c o m p o r e n t ,   t e o   o u t i l e . 

on colimit get X= Q Eó(x) . 
End of pf shetch. 

Want to appy this to Cx(g). 
Consider r: g →N 
Induces Ch chg 

symm. monoidal hunchor. 

lett adjoint re is Kan extension, (T*X)(n) = EGL, (f) E Xn) ~ C,(GLF; XI)) 

Let Ik E ang coustt. 
C* (g) = r* (k). 

In fact K is an Exalso Need manoilal stuctue on ch. 
Day convoltion (A@B)(n) Ind Fx6L,F A(a)@ B(b) 

Theorm Bar (IL) (n) is the double suspension 
of the reared f-chais of the singil set 

Cp] e {V*... oV=f"|V,+0} 
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Prool Bar (1) (1) = | 5 ] 14°9 (m) | 
= |LP]M F) Jud u 

GLn, *... * GLn. 
t--+p=n 
⽶ [Cn/GL = GL ] 

t w o differences: • Vi can be zero 
• wrong n u m b e r l summands 

Face maps are : do fogets Vi, get 
" 

di meges adjacent entries. 

iF V, +0 
Ур + 0 

Del F (F) = | (p1 → Voo. /p+1 =P" | 
T (F") = 1G] → OCWC... CWpt =F" Tits building 
7 map T → T 

Solomon-Tib: T(T") ~ VS" -2 
Charney : 今 （ ） と V S て 

St(F") = 
StE1 (٣) = 

d‡ n 
Hd (Bar (Ik) (n)) = St* (n) den 
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=→ Ha (Bar (@) Ca(GLf))) = ® Han(GLn F; S1E ()) 
vanishs for den . 

E" Bar (-1 does not decrease connectivity 

for den -1 

get slope stabiling for GLuF 
Rom slope 2 stahiting ho syrn gups. 

- 11 

thi (GKRW) If F an infinte hiell, the 
HEm (oC.(6L-5)) =0 fo de2|-12. 

Moreover, 

kk/pk ท ะ #   p i n e   p o r e r 
otherwise 

Cor (Inspendenty descord by G, K, RN) 
Ha(GLAF; St (T") = 0 for dan-t , F inf. Reil 


